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Listen to the following recording and answer the questions. Then check your answers on the script.

1. Nowadays, more people are 


a) moving up the social ladder


b) moving down the social ladder


c) staying at the same level as their parents

2. The trend is explained by


a) the decrease in the number of middle and top jobs


b) the fact that less people go to university


c) the fact that the middle-class is shrinking

3. What is "upward mobility"?

4. When did the trend of "downward mobility" begin?


a) four years ago


b) two decades ago


c) forty years ago

5. This trend is unprecedented in the UK


a) true

b) false

6. How many British people were studied by Oxford University researchers?

7. What years were they born in ?

8. What is the general trend?

9. About................of men and women ended up in a different class to the one they were born in.

10. A person born in a working class family is 20 times less likely to................................................. than........................................................................................
11. How could the problem be solved? (plusieurs réponses possibles)


a) with the creation of new kinds of jobs


b) with the development of high technology


c) with new university courses


d) with the development of the public sector


e) by encouraging people to accept lower level jobs than their parents

12. This article was published in (name of newspaper).......................................... in (date)................................................

It is a (nationalité).................................(political view).....................................newspaper.
